T2-Geography
Model Question Paper V
8th Standard

Social Science
I. Answer all the questions
Time :01:30:00 Hrs
Part-A
1) Shifting agiriculture in Brazil is known as

(a) Jhum (b) Roco (c) Milpa

2) InIndia, U.P, Punjab and Haryana are the major production states.

(a) Rice (b) Sugarcane (c) Wheat

3) Diamond cutting requires labour.

(a) Skilled (b) Unskilled (c) Semi-skilled

4) Large scale industries require investment.

(a) huge (b) medium (c) less

5) Sugarindustryisa oriented industry.

(a) raw material (b) footloose (c) market
Part-B
6) Crops can be broadly divided into food and

7) Theworld's best comes from the temperate grasslands.

is the basic requirement to operate machinery.

industry is located near the market.

10) Processing industries convert raw materials into products.
Part-C

Name the factors that are responsible for the location of an industry.

11)
12) Name few activities associated with the secondary sector.
13) What are the different types of labour used by industries?
14) How are industries classified according to size?
15) What is meant by assembling industry?
Part-D
16) What is meant by multiple cropping?
17) What is plantation agriculture? Name the plantation crops.

)

)
18) What s ginning?
19) What s the role of capital in the location of industries?
)

20) Explain how industries are classified according to their raw materials?
Part-E

21) What s irrigation? Discuss the various types of irrigation.

22) Write a paragraph on the conditions required for the cultivation of tea.

23) How are industries classified? Explain.

*kkkkkkkhkkhkhkhkhkhkhkhkhkkhkhkkkkhkhkhkhkhkkhkkkikhkhkkhkkkk

vre T[]

Total Marks : 50
5x1=5

5x1=5

5x2=10

5x3=15

3x5=15



